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Combined Graduate Level Examination-2019 (Tier-I)
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Exam Time 10:00 AM-11:00 AM
Subject CGLE Tier |

Section : General Intelligence and Reasoning

Q1 3w FweT @1 9T =, oEA wEst & 9w # af gaw &, S A R v wgeey & dwmst F
& 81

(88, €0, 37)

Ans 1. (36, 70, 38)
X 2 (43, 49, 27)
X 3 (56, 38, 28)
W o (94, 42, 34)

Question ID : 816161845
Status : Not Answered

Chosen Option : --
Q2 =Ry @ b ¥ T8 gEg ¥, S Ester #r 'R
A X1 TR

v 2 giEur At

p 3 Bfﬁﬂ

X 4 Fealr RfiE

Question ID : 816161835
Status : Answered
Chosen Option : 2

Q.3 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans «T jNQS
X 2. RSTU
X 3. TVXZ
X 4 ADG]J

QuestionID : 816161833
Status : Answered
Chosen Option : 1
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as XK 1112
X2 50
Vs 54
X 78

Question ID : 816161838
Status : Not Answered
Chosen Option : --

s 3w ey & 9uw Y, o & 7% argfa siafafea & (ger & argafer =8 9)

i

Ans

v 2

Question ID : 816161852
Status : Answered
Chosen Option: 2
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Q.6 Which of the following Venn diagrams best represents the relationship between the classes?
Tables, Wooden objects, Chairs

OO0

2

QDO

Question ID : 816161855

Chosen Option : 2

Status : Answered

Q7 FemHt % 9% A R v §, Ged O 5 7 0 o @ e € ek o swEe Roaw
HEA FEA-TIA F TF F

Ans X 1. 53 : 378

X245 : 322
X3 37 : 266
v+ 43 - 318

Question ID : 816161844

Chosen Option : --

Status : Not Answered

Q8 Gl sEen & RF-REd (?) T FE HS T IFET-TAE H T L
DJQC, ELTG, FNWK, GPZO, ?
Ans o 1. HRCS
X< 2. HRBU
X 3 HQCT
X 4 GRDS

Question ID : 816161839

Chosen Option : 1

Status : Answered
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Q.9 60 smdents participated in one or more of the three competitions, i.e. Quiz. Extempore and Debate. A total of 22
students participated either in Quiz only or in Extempore only. 4 students participated in all three competitions. A total
of 14 students participated in any of the two competitions only. How many students participated in Debate only?

Ans x1_ 22
<211
V'3 20
X414

Question ID : 816161848
Status : Answered
Chosen Option : 3

Q.10 7 ReeT @ =uw &1, wd el & 99w # 7@ v &, F g A R o oA &
srzet & A §

s - T
Ans X ofafear - wEET
X2 7l g
v o oqfier © Sedor
X 4 Fsar - Fue

Question ID : 816161836
Status : Answered
Chosen Option : 3

O CfafEa guer § gea-fga (?) 1 F9g A a8 H T9TF HL|
¥ B.L: &.%..2
Ans x1_

X
O omm

Question ID : 816161831
Status : Answered
Chosen Option : 4

Q.12 Four words have been given. out of which three are alike in some manner and one is different. Select the odd word.

Ans 1. Volume
« 2. Gallon
& 3. Distance
X 4 Weight

Question ID : 816161834
Status : Answered
Chosen Option : 2
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QuestionID : 816161832
Status : Answered
Chosen Option : 4
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Question ID : 816161841
Status : Answered
Chosen Option: 3

Q15 37 fawey @1 Tgw X, Sww Sud s ¥ =@ Fav §, S gE) FE & ooge s @
o6 230558 L
ane 1. 61
X 2 53
X 3. 50
v 4 56

Question ID : 816161843
Status : Answered
Chosen Option : 4
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Q.16 et ffRaa g #mr &, 'DRONE' # 'SERFO' fram =mam &1 38 % #19r & HOUSE' #r 3 foar
FeET?

ans o 1 PIXFT
X 2 QIXGB
X 3 PQWGS
X 4 PIVFT

QuestionID : 816161837
Status : Answered
Chosen Option : 2

Q17 & & 1% wglaT # TS F UF  FE F OASH FeA FFA G I F| A & vF A A A
T & g Foe g W g g

Ans

oo

X3 | O

Question ID : 816161854
Status : Answered
Chosen Option: 1
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Ans

A+ B & 3T ¢ A B # Rar g
AxBw@ 3T E A B A
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Question ID : 816161840
Status : Answered
Chosen Option : 4

Q.19

3 & F TS R, A FEACET T ¥ wEaT a8
2, 6, 14, 30, 62, 126, 250

Ans K 1. B2

X2 126

v 3 250

X4 14

Question ID : 816161842
Status : Answered
Chosen Option: 3

Q.20

Ans

& TS Fpher A e Rt 82

X124
V2 22
<3 21
X4 23

Question ID : 816161850
Status : Answered
Chosen Option : 2
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QuestionID : 816161853

Chosen Option : 2

Status : Answered

Q.22 & o1 ofic FT FEIT UF O I A ¥| FAC A0 O F, SeAeed § § F F 3 £ S
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A BIUl
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Ans x1A3‘ﬁTQ
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X4+B AT E

Question ID : 816161851

Chosen Option : 2

Status : Answered

Q.23 ofy ‘A" =1 AFem W &, B & Avem IOV &, 'C & Aged W5 ¢, AR D' F Ades €6 E, &
fa=fafEe o= & 77 F70 37

32B4A12B(35A24)C52D 4
Ans X147

v29

<3 39

X419

Question ID : 816161847

Chosen Option : 2

Status : Answered
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Question ID : 816161849
Status : Answered
Chosen Option: 2

Q.25 s et o7 eAATER HeTUA FY AT 3T TEA F AR FY, T T g (7) e FrEsar

11]12[18
4 |5 |6
57|19|?

ans of 1108
X2 69
X 3 205
X+ 55

QuestionID : 816161846
Status : Not Answered
Chosen Option : --
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Q.1 2ot ¥ ween/ sraftr ¥ arg siieR® 9 1R St sifvifte ¥ fore ardar wa w39 9@
YR YEHIR ST 99 Faig |

Ans  of 1 ware
X 2. T HgwE @

X 3. wgdv e
/< 4. faomer feg
QuestionID : 816161876
Status : Not Answered
Chosen Option : --
Q.2 yra W Ut (IMD) 7 15 w9, 2020 S 3O 7ot Rgq 7=

Ans 1. 1354

o 2 1454
/5 3.1404F
X 41394

Question ID : 816161879
Status : Answered
Chosen Option : 2

Q.3 fPrefofes ¥ & e § wrefys thie e war &2
Ans x 1. 28

K 2w @

V3.

K 4 e

QuestionID : 816161862
Status : Answered
Chosen Option : 3

Q.4 Yaor 5rer-ferggey aREIS (3T - TS Woee) TAwEI
Ans o 1 i

X 2. s

X 3 R

X 4.

Question ID : 816161865
Status : Not Answered
Chosen Option : --

Q.5 vitea st &1 Frer 2019 & gam ol 9 e afre: s @t v off?
Ans X" 1. &y firgt

of 2. v st

X 3w v O

X 4. e ardisaR

Question ID : 816161872
Status : Not Answered
Chosen Option : --
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Q.6 fr=feRea # @ e af #Y wRa % sty shier ¥ geg fnmres &1 af e wrar 2

Ans X" 1 1931

K 2.1911
W 31921
5 4.1951

QuestionID : 816161867
Status : Answered
Chosen Option : 3

Q.7 |HTSTETE T 51T HhTeT TRV ST Hel e &2
Ans x 1. 3RTER

K 2. 75 Rt

o 3. e

X 4w

Question ID : 816161856
Status : Answered
Chosen Option : 3

Q.8 wigERE AR ST R g 14 Hoas ¥ grr e T gered e R gE €,

TR ST R 3R A2 Wolg @I & 9 O T ol
Ans  of 1 firirer omE e
X 2. Targde e
X 3.5
25 4. sremeda Raerh

QuestionID : 816161869
Status : Not Answered
Chosen Option : --

Q.9 e & ofrer & RyErm G} T 3t e T Hgeeh 2
Ans  of 1 o

X 2.3

& 3Ry

5 4 g

Question ID : 816161860
Status : Answered
Chosen Option : 1

Q.10 What does the writ of ‘Mandamus’ mean?

Ans ( 1. We Command
x 2. You May Have the Body
x 3. By What Warrants
X 4. To be Certified

Question ID : 816161875
Status : Marked For Review
Chosen Option : 1
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Q11 i H/@ wfee (diaeew) sgera/d €l
Ans “1.1413%%

X 2. Rreged iRt

/5 3. et

K 4 wwe

QuestionID : 816161863
Status : Answered
Chosen Option: 1

Q.12 F= gy wigais= (FIT) 2 & Sraf=a+ 3g T Aifafe sTuR veM s & fg
FrafeRaa 3 @ e siftferas & weirer Rear war ar?

Ans X 1 S fafree sfufirem, 1949
W 2. v Rerd d (ameat.ams.) sfufrr, 1934
£5 3. e e va e R P aififRr, 1961
X 4. el sivenfires fore e aiftrfera, 1948

QuestionID : 816161858
Status : Not Answered
Chosen Option : --

Q.13 frafafea § | fra Refe @ w6 3 Wi S
Ans X' 1 faerfi B
K 2. R D

X 3. Rt C WWW.exammix.com
of 4 R A

Question ID : 816161864
Status : Answered
Chosen Option : 4

Q.14 yra F Frmare & fore weftes foret (@) e aResfeaa (Rswimse) fram am
Ans X' 1 FERSS

25 2.8 g

“3.9’9ﬁ?rﬁrw

X 4. S gir

Question ID : 816161874
Status : Not Answered
Chosen Option : --

Q.15 fr=feRae # | e 381 3 TS BT UHRT Fefes & Iy Hiia & vt fry oF ot o8 wifa
AR $ e I a9 & fore fomar wirar €, o sifesed Siom / el S & 9 | ST S 82

Ans X" 1. <igH @ EST
o 2 Fega o
X 3. AT 9 e
X 4. srade A awst

Question ID : 816161857
Status : Marked For Review
Chosen Option : 3
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Q.16 3E=-T-Sadt TFIT & @S BT A qA1d?

Ans X' 1. arege W @E-GEET

KX 2. R
/X 3. S Ha

4. 3rger e

Question ID : 816161871
Status : Answered
Chosen Option : 4

Q.17 wifeam, ggiRaw ik grsfeaw

Ans (1.‘5’3@%1?
& 2. @A

X 3w
X 4 regem

F AIPRIs © | T A arer TRt §2

QuestionID : 816161861
Status : Answered
Chosen Option : 1

Q.18 15 wIa¥Y 2020 FY Ha$ i R foid (MTHL) F uger =Rvr &7 YHRH freaa fram

Ans X1 Tz W
X 2. sfra v
3 Az wedw
W 4 sEaTR

QuestionID : 816161878
Status : Answered
Chosen Option : 4

Q.19 g & ugen el AW TR fpa a¥ T forar i ar?

Ans  of' 1 1930
50 2.1923
5 3.1907
X 41919

Question ID : 816161870
Status : Answered
Chosen Option: 1

Q.20 fpw o B fIU=_TuT A 9 SFERT 2020 B AT Uit R (Fh) S

Ans X1 it Rer
X 2 B
W 3. s e

p

Question ID : 816161880
Status : Not Answered
Chosen Option : --
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Q.21 RARR wgieal & Rl SR Rea I A mrsga 2
Ans X 1 v aTe 1

X 2. wrerdter are o=F

(3.7:1?1?&}7—53%@1’5‘

& 4. dre are =t

QuestionID : 816161866
Status : Not Answered
Chosen Option : --

Q.22 fy=g ST Irefr woiRdt A grer ) # vy 9T R 4 Tt @1 wftreer T @2
Ans ?( 1.9+

X 2. wfteear

2K 3. s

W 4 wa

Question ID : 816161877
Status : Answered
Chosen Option : 4

Q.23 siaY REHR Sl et uget Siar &1 A1 Fand|
Ans X' 1 foriRe SR

K 2 s R dTR

of 3. o I

5 4. el e

QuestionID : 816161873
Status : Not Answered
Chosen Option : --

Q.24 GNP =TT 3ref &7

Ans X" 1. gefior o ufwg (Gramin Nigam Parishad)
x 2. Yot feraes wmor (Gramin Nisak Praman)
o 3. 7 et srea (Gross National Product/Seet IS ScdTe)
5 4.7 “reret WrggH (Gross National Produce/ee IRy SeaTe)

Question ID : 816161859
Status : Answered
Chosen Option : 3

Q.25 yefmferat  vivar 1 few af siftrper fsar am?
Ans X" 1.1610%. (AD)

o 2.1510% (AD)

75 3.1540%. (AD)

5 4.1475%. (AD)

QuestionID : 816161868
Status : Answered
Chosen Option: 1

Section : Quantitative Aptitude
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Q1 mgfy # PA, &% O 9 g7 W @Ew Tig P & € & ws Tweitar 31 3R «POB = 110° &, &
£APO & AlF &7 grEm?

QuestionID : 816161896
Status : Answered
Chosen Option : 3

Q2 4 6rand — 53secd + 12cotd = 0, 0° < § < 90° &, & (cosec 8 + secf) & HIA HATH HITAT|

Ans

X1 3+
2

x 2 3443
2

x s 23+ 2V3)
3

v %(34"-5)

Question ID : 816161899
Status : Answered
Chosen Option: 3

Q.3 X 3k Y e ®ue & St v gy F 280 km Fr g ® T €1 vw AT wHT WX & wF &7 60
km/h Fr e Y F T T E 2 0 F A, TF gAY &7 Y | X F W 20 kmh F A0 § Ty
TR O F A X G TR &E, Y ¥ T & e

e X3 E
X2 6He
X3 2ge
V4 g

Question ID : 816161890
Status : Answered
Chosen Option : 4
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Q4 o ot & ot F fRftes T=a ¥ v afyTEh ofe F s 3 e st st @
fta) & arer semiat $r e wewfig i a5 3 afee & semes #5103k e e gt e

el &l

EL
| 1997 - 1998 1999 é200|3 . 2001

et et emf |seAt | ofemf | seoh  ofemf | sehor | ot sehor
I M (5200 |720 . 8500 I 980 7400 850 - 6800 775 I 9500 . 125
;N 7500 840 .9200 ! 1050 8450 920 59200 980 I 8800 . 1020
I P 6400 780 . 8800 i 1020 7800 i 830 8750 1010 i 9750 . 1250
E Q 8100 950 - 9500 i 1240 8700 : 980 9700 1200 l 8950 - 995

a¥ 1997 & wff Tt ¥ wfAT @ T vemhat fr g FEn G o9
Ans 1. 22,700

v 2 27,200
< 3. 27,000
X 472,200

Question ID : 816161903
Status : Answered
Chosen Option : 2

* (4a+3b+20)? T BAER F

Ans X1 4a® +3b + 2¢% + 24ab + 12bc + 16¢a
X 2 16a® —9b> + 4c? — 24ab+ 12bc — 16¢ca
v 3 16a® + 9b* + 4c% + 24ab+ 12bc + 16ca
X 4 16a% +9b? + 4c? — 24ab— 12bc — 16ca

Question ID : 816161892
Status : Answered
Chosen Option : 3

Q.6 fy ofiemstt & 72% 3% 9T FTAT 81 PR F 360 3w § o 3EIH T Faw 2
Ans X 1. 350

#2450

#3400

v 4 500

Question ID : 816161885
Status : Answered
Chosen Option : 4
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7 (3a- 4b)® T F ¥ frEF s 2

Ans X 1. 27a% — 64b3
v 2 27a® — 64b* — 108a®b + 144ab?
/< 3 9q% — 24ab + 16b?
< 4 9q% — 16b7

QuestionID : 816161893
Status : Answered
Chosen Option : 2

Q.8 24 cm 3= T T ABCD # = PDC a=ran =T &, =@ g P, AB W 2w ¥ Fne &1 e
farger ghem?

Ans X1 280 cm?
< 2 200 cm?
< 3298 cm?
v 4 288 cm?

Question ID : 816161898
Status : Answered
Chosen Option : 4

Q.9  fyr afeer & oiw ot # Rt g=af ¥ ow wfyaeh ofer & amer o T el s (A
oftE) @7 a1 gt fr dew wefiiE # % ¥ afes & s #:T Ak BT aw geat &
FeaT Sl

|

=z | 1997 1998 1999 2000 2001

whemedf st ofemdf |sednt ofemf a=hot | ofendt |sedt | ofemdt | sedwr

M |5200 |720 8500 980 |7400 : 850 6800 |775 |9500 1125

N |7500 (840 9200 1050 8450 ‘920 9200 |880 (8300  |1020

P 6400 |780 8800 1020 7800 1890 8750 | 1010 |9750 1250

Q (8100 (950 (9500 (1240 8700 ‘930 9700 '1200 8950 995

1998 # Wit T=al % 3ecivT Seaneld 1 For WEwr, 2001 F W T=AT & FedA0T geArenAt g
FEm & s o wies 37 (Suees ¥ & T o9 )

ans X 1. 94.7%
v'2 97.72%
X 3 96.70%
X 4.90.72%

Question ID : 816161904
Status : Answered
Chosen Option : 2
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" 7 wEw o quits FT ¥, S 5, 8 3R 15 F o 17

Ans 1. 40
X 2 60
X 3 600
v+ 120

Question ID : 816161881
Status : Answered
Chosen Option : 4

Q1 gpfr A+B=12 3R AB=17 ¥ ar A*+B® = AT FIT 27
Ans o 1.1116

< 2 1106

3 1166

X 41213

Question ID : 816161894
Status : Answered
Chosen Option: 1

Q12 Fyer afte & o9 ot § RBftes =gl @ v 9faeh ofer & aer 8 T i s (@R
TIftE) @ I weEmehEt fr g wefi| & 9% 3 e = sewme St il faw 9w weat v
e &

E

=g (1997 1998 1999 2000 2001

M [5200 (720 8500 980 7400 850 %6800 775 |9500 1125

N |7500 840 9200 1050 8450 920 |9200 980 8800 1020

i P |6400 (780 |8800 1020 7800 890 8750 1010 9750 1250

Q |8100 950 9500 1240 |8700 980 lo700 1200 8950 995

M 3 P Tisat &, 9§ 1998 F It geamehatd dwmr F fraar ey 87
Ans 1. 60

v'2 40

<3 50

X 4 44

Question ID : 816161902
Status : Answered
Chosen Option : 2
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et 20% HRX 15% & &I FHEF P & TAGeT Tha e fohael grei?
Ans o 1. 32%

X2 30%

< 3 28%

X 4 22%

Question ID : 816161884
Status : Answered

Chosen Option : 1

Q14 v o aew & wers, O A FE 7 0 50 3 F wgea 7 § A gwer w90 A Avee
27832 om® %1 $H SHH & TGS 7T ST

Ans  X1.208120 cm?®
X 2280120 cm?
# 3288100 cm?®
v 4288120 cm®

QuestionID : 816161891
Status : Answered
Chosen Option : 4

Q15 & of smgfy & A4BC & TR 6 = 80° ¥, & 3w A F ¥ vAF BT H 7T Fw QA2

Ans 1. B0°
X 2 40°
X 3 80°
v+ BQ°

Question ID : 816161897
Status : Answered
Chosen Option : 4

1 gfr 3a =
Ans X190 2 T
X210:5:
v320:15: 12
X420:15: 16

s
ws]
Il

5C,dr A: B: C & A F4T gE 2

=

QuestionID : 816161887
Status : Answered
Chosen Option : 3
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Q17 A B skt C #r sitwa amg 20 9§ Fwr B 3 C #r dwa g 25 I F A Fr g 4w 2
e K20 a9

V210 T§

X315 a§

X425 af

QuestionID : 816161883
Status : Answered
Chosen Option: 2

QI8 1 s vam v Fw = F 65 Rt 3l 15 Rat F g Fv W §1 s Feer aw
om F o i sEF @ UE T olEet I9 T A9 a9 FE A e & Fae |
F q@ & aem?

Ans XT liﬁﬂ
V22 ﬁ:.T-I'
X33 fa
X4 4R

QuestionID : 816161889
Status : Answered
Chosen Option : 2

Q.19 T&r 60° Hr HATT (inclination) IT 16 m =& BT & Ud 33T &1 FHT & o= =% (h)
9T 9T 3T T A2

Ans x . 4v;§m
XA 2 16V3m
<3 6y3m
v 4 83m

Question ID : 816161901
Status : Answered
Chosen Option : 4

Q.20 The simple interest on a sum of money for 3 years at an interest rate of 6% p.a. is 76,750. What will be the compound
interest rounded off on the same sum at the same rate for the same period, compounded annually is closest to :

Ans X 1.37,103
X 2 37,133
X 3. 37,663
W 4 27,163

QuestionID : 816161888
Status : Answered
Chosen Option : 4
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Q21 oy ey # oiwr a6t 3 e ToT ¥ v SR ofeT F ST A T A st (T
) @ aret geansiat & e 2| @ g #1 arfeer @ svaae Y A R e gt #v

Erra-d|
o
=g | 1997 .1998 1989 | 2000 2001
I M 5200 |720 - 8500 I 980 7400 : 850 6800 776 : 9500 - 1125
E1"vl 7500 840 ‘9200 l 1050 8450 l 920 59200 980 l 8800 7 1020
E P 6400 780 - 8800 : 1020 7800 . 890 8750 1010 l 9750 - 1250
E Q 8100 950 - 9500 ! 1240 8700 l 980 9700 1200 l 8950 - 995

T o a6t & S U= Q § #T F are st #r twe ' = 32

Ans X 1. 8880
« 2. 9000
V2 8990
X 4 8980

Question ID : 816161905
Status : Answered
Chosen Option : 3

92 1800+ 20X {(12—6) + (24 — 12)} ST AT FT 7

Ans X 1. 2720
~< 2 840
X 31720
v 4 1620

Question ID : 816161882
Status : Answered
Chosen Option : 4

Q23 14 em R=am AR 45° FET FIUT I T Jod-WE HT STH [ohdal g2

(a2
Ans X167 cm?
V2 77 cm?
X 370 cm?
X 411 cm?

Question ID : 816161895
Status : Answered
Chosen Option : 2



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

47

GET IT ON

Google Play

Q.24 ﬁ-rgaq'@%,mﬁ?ﬁﬁ, cosect T AT fra=m B2

Ans : 13

vz
X2 2
X3 =
Xz

Chosen Option : 1

Question ID : 816161900
Status : Answered

Q.25 7= v TEg F ATHT 30% T FACT ¥l FW FT T F B W AR Ry gpw @ o A

ST, & e giaee e g? (GrEEs F U T OF Ten)
Ans X 1. 20.1 %

K 2242 %

v'3 231%

K4224%

Chosen Option : 3

QuestionID : 816161886
Status : Answered

Section : English Comprehension

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Our new office will become operational from a weeks time.
Ans X" 1.No improvement

x 2. for a weeks time
x 3. by the week's time

« 4.in a week's time

Chosen Option : 4

QuestionID : 816161910
Status : Answered
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Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

You will not learn cycling unless you don't try.

Ans X" 1_until you are not trying
X 2. until you don't try

J 3. unless you try
x 4. unless you didn't try

Question ID : 816161911
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate synonym of the given word.

Solemn
Ans ( 1. Serious

x 2. Ordinary
x 3. Ignorant
X 4. Furious

Question ID : 816161920
Status : Answered
Chosen Option: 1

Q.4 Select the most appropriate meaning of the given idiom.

Kill two birds with one stone

Ans J 1. To achieve two results with a single effort
x 2. To try something impossible
X 3. To plan two murders simultaneously

x 4. To be an expert shooter

Question ID : 816161925
Status : Answered
Chosen Option : 1

Q.5 Select the correct passive form of the given sentence.

Fortunately, the fire did not cause much damage.

Ans x 1. Fortunately, not much damage is being caused by the fire.
( 2. Fortunately, not much damage was caused by the fire.
x 3. Fortunately, not much damage was being caused by the fire.

x 4. Fortunately, not much damage is caused by the fire.

Question ID : 816161908
Status : Answered
Chosen Option : 2
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Q.6 Select the correct indirect form of the given sentence.

Rahul said to his mother, "Can | go out and play now?"

Ans ( 1. Rahul asked his mother if he could go out and play then.
x 2. Rahul asked his mother that could he go out and play then.
x 3. Rahul asked his mother if can he go out and play now.

x 4. Rahul asked to his mother could he go out and play now.

Question ID : 816161909
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

(1) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank number (1).

Ans X' 1.an
X 2.o0ne
W 3. the
X 4.a

QuestionID : 816161913
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

(1) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)_____
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number (2).

Ans " 1 spreading
X 2. stretching
x 3. scheming
« 4. sprawling

Question ID : 816161914
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

(1) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank number (3).

Ans X" 1. none
x 2.no
x 3.or
of 4 nor

QuestionID : 816161915
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

(1) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)

waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank number (4).

Ans «1.destroyed
x 2. distracted
x 3. dismayed
x 4. displayed

Question ID : 816161916
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

@) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank number (5).

Ans ‘, 1.and
x 2. also
x 3. but
x 4.as

QuestionID : 816161917
Status : Answered
Chosen Option : 1
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Q.12 Select the most appropriate ANTONYM of the given word.

Persuade
Ans « 1. Dissuade

x 2. Pervade
x 3. Induce
X 4. Impress

Question ID : 816161923
Status : Answered
Chosen Option: 1

Q.13 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Their prestige and glory spread far and wide.
B. The first Olympics were held at Olympia in Greece in 776 B.C.

C. It was because the Christians believed that they encouraged pagan worship in temples.
D. However, with the advent of Christianity, the games lost their importance.

Ans  of 1 BADC

75 2.DCAB
75 3.BCDA
/< 4.AcDB

QuestionID : 816161919
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate ANTONYM of the given word.

Rear
Ans ( 1. Front

x 2. Lower
/< 3. Hind
/X 4.Back

Question ID : 816161922
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate synonym of the given word.

Eradicate
Ans X" 1 Approve

x 2. Magnify
x 3. Condense

( 4. Uproot

Question ID : 816161921
Status : Answered
Chosen Option : 4
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Q.16 Select the most appropriate meaning of the given idiom.

Make off with
Ans X" 1. To discover

X 2. To transfer

J 3. To run away
x 4. To understand

Question ID : 816161924
Status : Answered
Chosen Option : 3

Q.17 Fill in the blank with the most appropriate word.

Do you want to
Ans ( 1. subscribe

x 2. transcribe

x 3. prescribe
X 4. describe

to Reader's Digest magazine?

Question ID : 816161931
Status : Answered
Chosen Option : 1

Q.18 In the sentence identify the segment which contains the grammatical error.

If a few drops of lemon are put in the milk, it has turned sour.
Ans X" 1. drops of lemon

x 2. are put in the milk

X 3.Ifafew

J 4. it has turned sour

Question ID : 816161907
Status : Answered
Chosen Option : 4

Q.19 Select the INCORRECTLY spelt word.
Ans  of 1. Journy

x 2. Furious
x 3. Failure

x 4. Delicious

Question ID : 816161928
Status : Answered
Chosen Option : 1
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Q.20 Select the word which means the same as the group of words given.

Person or animal living on another
Ans J 1. Parasite

75 2. Heir

X 3. Successor

5 4. Pupil

Question ID : 816161926
Status : Answered
Chosen Option: 1

Q.21 Select the INCORRECTLY spelt word.
Ans  of 1 Potraite

X 2. Persevere
X 3. Pageant
x 4. Pamphlet

Question ID : 816161929
Status : Answered
Chosen Option : 1

Q.22 Fill in the blank with the most appropriate word.

Your demands are bound to lead to in the family.
Ans ( 1. discord

X 2. barrier
x 3. absence

X 4. decrease

Question ID : 816161930
Status : Answered
Chosen Option : 1

Q.23 In the sentence identify the segment which contains the grammatical error.

Mohit did not went to school yesterday as he was unwell.
Ans J 1. went to school

x 2. was unwell
X 3. yesterday as he
#5 4. Mohit did not

Question ID : 816161906
Status : Answered
Chosen Option: 1
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Q.24

Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. These baits were temptations that people couldn't resist.
B. He evolved a theory that the world was a rat-trap.

C. Once, a peddler sat looking at his rat-traps.

D. Here, people lay baits for others.

Ans o 1 CBDA

/5 2.BDAC

75 3.DACB

75 4.CcADB

Question ID: 816161918
Status : Answered
Chosen Option : 1

Q.25 Select the word which means the same as the group of words given.

Ans

Central character in a story or play

X 1. Hedonist
x 2. Cartoonist
x 3. Opportunist

« 4. Protagonist

Chosen Option : 4

Question ID : 816161927
Status : Answered



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

	Combined_3-Copy.pdf
	3 1st.pdf
	3 2nd.pdf
	3 3rd new.pdf

	Combined_4-Copy.pdf
	4 1st.pdf
	4 2nd.pdf
	4 3rd.pdf

	Combined_5-Copy.pdf
	5 1st.pdf
	5 2nd.pdf
	5 3rd.pdf

	Combined_6-Copy.pdf
	6 1st.pdf
	6 2nd.pdf
	6 3rd.pdf

	Combined_7-Copy.pdf
	7 1st.pdf
	7 2nd.pdf
	7 3rd.pdf

	Combined_9-Copy.pdf
	9 1st.pdf
	9 2nd.pdf
	9 3rd.pdf


